Code No. : 2356

PROCESS EQUIPMENT DESIGN

Time : 2:30 Hours] [Maximum Marks : 50
NOTES:

i) Attempt all questions. Attempt any two parts of each question.

ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any
diffgrence in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.

Q1) a) Write fabrication techniques, in process equipment design.

b) What is stress and its types in machine design.

c) Describe the 3 main elastic constants.

[2x5=10]
Q2) a) What is the normal stress formula for bending moment?

b) What are the stresses in a cylinder?

c) What are the types of dynamic loads in machine design?

[2x5=10]
Q3) a) Write pressure codes and standards.

b) Define corrosion allowance of a pressure vssels. What is acceptable corrosion rate?

) How to design a tubular heat exchanger? Give the formula for'design.

[2x5=10]
Q4) a) Describe Kern’s method of heat exchangerdesign.
b) What is the difference between a fixed tube heat exchanger and a U tube heat exchanger.
c) What is bracket support used for pressure vessel.
[2x5=10]
Q5) a) Explain skirt support of a pressure vessel.
b) Describe selection of key component for multicomponent distillation.
c) What is checking of conditions for weeping, down corner flooding and liquid entrainment for distillation column.
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